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3)   r  = { (x , y)  RxR y   x
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6)   r  = { (x , y)  RxR | y  > | x | } 
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9)   r  = { (x , y)  IxI | y =  - | x | + 2  } 

 

 

  

 

 

 

 

 

 

 

10)   r  = { (x , y)  IxI y  =  x
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4.   r ={(x,y) RxR|y=x+1} 

 

x -3 -2 -1 0 1 2 3 

y 9       

 

5.   r ={(x,y) RxR|1  x 4} 

 

6.   

     6.1  r ={(x,y) AxA|y=x}    A = {1,2,3,4,5} 

6.2  r ={(x,y) AxA|y=x-1}    A = {3,4,5,6,7} 
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6.3  r ={(x,y) RxR|y=4x}   

6.4  r ={(x,y) RxR|y=x+3}   

 

7.    r  r 1  

r    = {(-3,-2),(-2,-1),(2,3),(3,4),(4,5)} 

r 1=…………………………………… 

8.   r  r 1  

r    = {(x,y) RxR|y=x+3} 

r 1= {(x,y) RxR|y=………} 
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g

f
 

        f  g = {(1,2),(2,8),(3,18)} 

               
g

f
 = {(1,2),(2,2),(3,2)} 

 10.   

11.   
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f = {(1,2),(2,4),(3,6),(4,7)}    

g = {(2,3),(3,1),(4,2),(5,3)} 

  f + g 

  f + g = {(2,7),(3,7),(4,9)} 

  f + g 

  gfD = {2,3,4}   ,  gfR = {7,9} 

 12.   10  

 13.   10  

 

5.   

 1.   10  

 2.   10  

 3.   

 4.   Internet  

 

6.   

 1.   

 2.   

 

7.   

………………………………………………………………………………………………………………. 

………………………………………………………………………………………………………………. 

………………………………………………………………………………………………………………. 

 

8.   

……………………………….……………………………………………………………………………… 

………………………………………………………………………………………………………………. 

………………………………………………………………………………………………………………. 
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2. )x(g)x(f)x)(gf(  

3. )x(g)x(f)x)(gf(  
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     f   g     gf DDx  

   4.  
)x(g

)x(f
)x)(

g

f
(     0)x(g  

    x   
g

f
   

f   g     0)x(g    gf DDx }0)x(g/x{  
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(  

            RDf     }1x/Rx{Dg  

    RDD gf }1x/Rx{  

        }1x/Rx{  

    }1x/Rx{  
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           )2x( 3 1x  

          2x3 1x  

   )x(g)x(f)x)(gf(  

           )2x( 3 1x  

           2x3 1x  

   )x(g)x(f)x)(gf(  

           )2x( 3 1x  

   
)x(g

)x(f
)x)(

g
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(     0)x(g  
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2x3
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g
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10x
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)x(f     x2)x(g     )x)(gf(  
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 3    3x2)x(f       2x)x(g     

  )1)(gf( , )0)(gf( , )1)(gf(    )3)(
g

f
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         RDf   RDg     RDD gf  

    )1)(gf( )1(g)1(f  

             15  

             4  

    )0)(gf( )0(g)0(f  

          03  

          3  
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1.    1x    x8x4)x)(fog( 2      4x)x(f 2    

      )4(g 1   

 1.  1   2.  2   3.  3   4.  4 

2.    5x4xy/RR)y,x{(r 2    }03x2x2    

       A =  r    B =   1r     BA    

 1.  ]1,1(   2.  )10,3[   3. )3,1(   4. )10,1(  

3.     3x2)x(f   4x2      )x(f   

 1.  4,2   2. 11,1   3. 11,3   4. 4,3  

4.    )x(gx)x(f     )x(fx)x(g     )x(
g

f
   

 1.  x    2. 
x

1
   3. 

x1

x
  4. 

2x

x1
 

5.    1x2)x(f      
4x2

3x2
)x)(ogf( 1      )4)(ofg( 1    

 1. 
4

13
   2. 

10

13
  3. 

4

15
   4. 

10

15
 

6.    Axx2)x(f 3    )2,3(    1f     A  

 1. – 15    2.  15   3. – 54    4. 54 

7.   5x4x4)x)(fog( 2     
2

3x
)x(g 1    )x(f   

 1. 8x4x2  2. 10x8x2  3. 20x8x2  4. 6x4x2  

8.    )x2)(x3()x(f      
3x

1
)x(g     gf    

 1.     2.  ]2,(   3. )2,3(   4. ]2,3(  

9.   I     12y2x/)y,x{(f   }Iy,x  

       fof    
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